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COMBINED CIVIL SERVICES EXAMINATION- III (GROUP- III.A SERVICES) – 
28/01/2023 

 
1. International airports in Tamil Nadu are _______ in number  

a. 4  b. 3  c. 2  d. 1  e. Answer not known 
jkpo;ehl;by; cs;s gd;dhl;L tpkhd epiyaq;fs; __________ MFk; 
a. 4  b. 3  c. 2  d. 1  e. tpil njupatpy;iy 
 

2. Innuyir Kaapoom – Nammai Kaakkum 48 scheme was launched in Tamil Nadu with 
the aim of  
a. Reducing death due to cancer  b. Reducing death due to road accidents 

c. Reducing death due to corona  d. Reducing death due to mal nutrition 
e. Answer not known 
jkpo;ehl;by; ‘,d;Dapu; fhg;Nghk; ek;ikf; fhf;Fk; 48’ jpl;lj;jpd; Nehf;fk; 
a. Gw;WNeha; %yk; Vw;gLk; ,wg;igf; Fiwj;jy; 
b. rhiy tpgj;jpd; %yk; Vw;gLk; ,wg;igf; Fiwj;jy; 

c. nfhNuhdh %yk; Vw;gLk; ,wg;igf; Fiwj;jy; 
d. Cl;lr; rj;J FiwghL %yk; Vw;gLk; ,wg;igf; Fiwj;jy; 
e. tpil njupatpy;iy 
 

3. What removes inner negativity of a mankind like a lamp according to valluvar? 
a. Lamp with truth’s pure radiance b. Light of the Family 
c. Blessed of Lamp    d. Lamp of Penance 
e. Answer not known 
mfj;jpd; ,Uisg; Nghf;Fk; tpsf;fhf ts;Stu; vjidf; $Wfpd;whh;? 
a. ngha;ah tpsf;F  b. FLk;g tpsf;F  c. mUs; tpsf;F 
d. jt tpsf;F  e. tpil njupatpy;iy 
 

4. How does valluvar portray meat eaters? 
a. Irregular   b. unkind   c. Ignorant   
c. Penniless   e. Answer not known 
Gyhiy czthf;fpf; nfhs;gtiu ts;Stu; vt;thW miof;fpwhu;? 
a. Kiwaw;wtu;  b. mUsw;wtu;  c. mwptw;wtu; 
d. nghUsw;wtu;  e. tpil njuptatpy;iy 
 

5. The autobiography ‘The Race of my life’ is related to 
a. P.T. Usha    b. Milkha Singh  c. Kapil Dev 
d. Mahendra Singh Dhoni  e. Answer not known 
‘jp Nu]; M/g; ik iy/g;’ vd;w Rarupij ahUld; njhu;GilaJ? 
a. gp.b. c~h   b. kpy;fh rpq;   c. fgpy; Njt;  
d. kN`e;jpu rpq; Njhdp  e. tpil njupatpy;iy 
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6. _________ Metro railway system and services are operational in India in the year 2022 
a. 13  b. 14  c. 15  d. 16  e. Answer not known 
____________ nkl;Nuh uapy; mikg;G kw;Wk; Nritfs; ,e;jpahtpy; 2022 Mk; Mz;by; 
nray;gLfpwJ 
a. 13  b. 14  c. 15  d. 16  e. tpil njupatpy;iy 
  

7. Which one is an example for Agro based Industry? 
a. Sugar Mill   b. Cement    c. Steel factory 
d. Mining   e. Answer not known 
Ntshz;ikia mbg;gilahff; nfhz;l njhopw;rhiy vJ? 
a. ru;f;fiu Miy  b. rpnkz;l; Miy  c. v/F njhopw;rhiy 
d. Ruq;fk; Njhz;Ljy; e. tpil njupatpy;iy 
 

8. Assertion and Reason type: 
Assertion [A]  : In the unorganized sector the employment terms are not fixed 
Reason [R]   : This sector includes a large number of people who are employed 

    on their own and doing small jobs. 
a. Both (A) and (R) are true and (R) explains (A) 
b. Both (A) and (R) are true and (R) does not explain (A) 
c. (A) is correct and (R) is false 
d. (A) is false and (R) is true 
e. Answer not known 
$w;W kw;Wk; fhuzk; tif: 
$w;W (A)    : xOq;Fg;gLj;jg;gl;lhj Jiwapy; Ntiytha;g;G tiuaiwfs;  
   epiyahdjhf ,Uf;fhJ. 
fhuzk; (R) : ,j;Jiw  Ranjhopy; GupAk; Vuhskhd> rpW mstpy;   
   njhopy;nra;Nthiu cs;slf;fpaJ.   
a. $w;W (A) kw;Wk; fhuzk; (R) rup> (A) $w;Wf;fhd fhuzk; (R) rup 
b. $w;W (A) kw;Wk; fhuzk; (R) rup> (A) $w;Wf;fhd fhuzk; (R) jtW 
c. $w;W (A) rup fhuzk; (R) jtW 
d. $w;W (A) jtW fhuzk; (R) rup 
e. tpil njupatpy;iy 

  
9. The next term of the sequence 

4, 6, 12, 14, 28, 30, ______is  
a. 32  b. 60  c. 62  d. 64  e. Answer not known 
gpd;tUk; njhlu; tupirapd; mLj;j vz; 
4, 6, 12, 14, 28, 30, ______ 
a. 32  b. 60  c. 62  d. 64  e. tpil njupatpy;iy 

  
10. If SQUARE is denoted by 1917211185, then RECTANGLE is denoted by  

a. 1753201147125  b. 1853201114126  c. 1853201147125 

d. 1953201147125  e. Answer not known 
SQUARE vd;gJ 1917211185 vdf;F Fwpf;fg;gl;lhy; RECTANGLE vd;gJ vt;thW 
Fwpf;fg;gLk;. 
a. 1753201147125  b. 1853201114126  c. 1853201147125 
d. 1953201147125  e. tpil njupatpy;iy 
 

11. The ration of boys and girls in a club is 3 : 2 Which one of the following could be the 
actual number of members? 
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a. 16  b. 18  c. 24  d. 25  e. Answer not known 
xU kd;wj;jpy; cs;s khztu;fs; kw;Wk; khztpfspd; tpfpjk; 3 : 2 vdpy; 
gpd;tUtdtw;Ws; vJ cz;ikahd vz;zpf;ifAs;s egh;fisf; Fwpf;fpd;wJ? 
a. 16  b. 18  c. 24  d. 25  e. tpil njupatpy;iy 
 

12. If 7 : 5 is in proportion to x : 25 then the value of x is  
a. 35  b. 25  c. 175  d. 125  e. Answer not known 
7 : 5 MdJ x : 25-f;F tpfpj rkk; vdpy; ‘x’ d; kjpg;G 
a. 35  b. 25  c. 175  d. 125  e. tpil njupatpy;iy 
 

13. Which one of the following mosque is best known for its tower of victory? 
a. Begumpuri Mosque  b. Quwwat – ul – Islam Mosque 

c. Moti Ki Masjid   d. Jamali Kamali Mowque 
e. Answer not known 
gpd;tUk; k#jpfspy; ntw;wp NfhGuj;jhy; kpfTk; gpugykhd k#jp vJ? 
a. Ngfk;G+up k#jp   b. Fthj; cy; ,];;yhk; k#jp 
c. Nkhl;b fp-k];[pj;   d. [khsp-fkhsp k#jp 
e. tpil njupatpy;iy 
 

14. Timur invaded India during the year 
a. 1396 b. 1398 c. 1414  d. 1451 e. Answer not known 
ij%h; ,e;jpah kPJ gilnaLj;J Mz;L vJ? 
a. 1396 b. 1398 c. 1414  d. 1451 e. tpil njupatpy;iy 
 

15. Which State implemented first the Panchayati Raj System/ 
a. Rajasthan   b. Bihar   c. Kerala 
d. Tamil Nadu  e. Answer not known 
ve;j khepyk; Kjd; Kjypy; ‘gQ;rhaj;J uh[;’ Kiwia nray;gLj;jpaJ? 
a. ,uh];jhd;   b. gP`hh;   c. Nfusk; 
d. jkpo;ehL   e. tpil njupatpy;iy 
 

16. Who was the first woman to pay penalty for violation of salt laws during the Civil 
Disobedience Movement in Tamil Nadu? 
a. Rukmani Lakshmipathi  b. Muthulakshmi Ammaiyar 
c. Muvalur Ramamirthan  d. Annie Besant 
e. Answer not known 
jkpofj;jpy; rl;l kWg;G ,af;fj;jpd; NghJ cg;Gr; rl;lq;fis kPwpajw;fhf mguhjk; 
fl;ba Kjy; ngz;kzp ahh;? 
a. Uf;kzp yl;Rkpgjp  b. Kj;Jyl;Rkp mk;ikahh;   
c. %tY}u; ,uhkhkpu;jk;  d. md;dp ngrd;l; 
e. tpil njupatpy;iy 
 

17. What helps virtue and also guards us from all evil? 
a. Patience   b. Love  c. Pride 
d. Education   e. Answer not known 
mwj;jpw;F kl;Lkd;W> kwj;jpw;Fk; Jiz vd;Wj; jpUts;Stu; vjidf; $Wfpd;whh;? 
a. nghWik   b. md;G   c. ngUik 
d. fy;tp   e. tpil njupatpy;iy 
   

18. Moovalur Ramamirdham was born in the district of  
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a. Cuddalore   b. Mayiladuthurai  c. Thanjavur 
d. Kanniyakumari  e. Answer not known 
%tY}h; ,uhkhkph;jk; __________ khtl;lj;jpy; gpwe;jhh; 
a. flY}u;   b. kapyhLJiw  c. jQ;rhT+u; 
d. fd;dpahFkhp  e. tpil njupatpy;iy 
 

19. Caudal Vertebrae and Vermiform appendix are example for  
a. Secondary organs  b. Analogous organs  c. Homologous organs 
d. Vestigial organs  e. Answer not known 
Ks;nsYk;G kw;Wk; Fly;thy; vjw;F vLj;Jf;fhl;lhFk;? 
a. ,uz;lhk; epiy cWg;Gfs;  b. nray; xj;j cWg;Gfs; 
c. mikg;G xj;j cWg;Gfs;  d. vr;r cWg;Gfs; 
e. tpil njupatpy;iy 
 

20. Identify the incorrectly matched deficiency disorder. 
a. Vitamin B3 – Pellagra  b. Vitamin B6 – Dermatitis 
c. Vitamin B2 – Beriberi  d. Vitamin B12 – Perinicious Anaemia 
e. Answer not known. 
jtwhfg; nghUj;jg;gl;Ls;s FiwghL Nehapid fz;lwpf. 
a. itl;lkpd; B3 - ngyhf;uh b. itl;lkpd; B6 - nlh;khbl;]; 
c. itl;lkpd; B2 - nghp nghp d. itl;lkpd; B12 - capiug;Nghf;Fk; ,uj;j Nrhif 
e. tpil njupatpy;iy 
 

21. Who said Indian Constitution as Cooperative Federalism? 
a. Granville Austin  b. Dr. Abedkar  c. Jawaharlal Nehru 
d. Wheare   e. Answer not known 
,e;jpahtpd; $l;lhl;rp Kiwia $l;lwTf; $l;lhl;rp vdf; $wpatu; ahh;? 
a. fpud;tpy; M];bd;  b. lhf;lu; mk;Ngj;fu;  c. [t`h;yhy; NeU 
d. tpau;   e. tpil njupatpy;iy 
 

22. The River Boards Act was passed the year 
a. 1956  b. 1956 c. 1952  d. 1950 e. Answer not known 
ejp ePu; Mizar; rl;lk; epiwNtw;wg;gl;l Mz;L. 
a. 1956  b. 1956 c. 1952  d. 1950 e. tpil njupatpy;iy 

 
23. A man repays a loan of Rs. 65,000 by paying Rs. 400 in the first month and the 

increasing the payment by Rs. 300 every month. How long it will take for him to clear 
the loan? 
a. 10 months  b. 15 months   c. 25 months 
d. 20 months  e. Answer not known 
xUtu; jhd; ngw;w &. 65>000 flid jpUg;gpr; nrYj;j Kjy; khjk; &. 400 
nrYj;Jfpwhh;. mjd; gpwF xt;nthU khjKk; Ke;ija khjk; nrYj;jpaijtpl &. 300 
$Ljyhfr; nrYj;Jfpwhh;. mth; ,e;jf; flid milf;f vt;tsT fhyk; Njitg;gLk;? 
a. 10 khjq;fs;  b. 15 khjq;fs;  c. 25 khjq;fs; 
d. 20 khjq;fs;  e. tpil njupatpy;iy 
 

24. ‘A’ alone can do a piece of work in 35 days. If ‘B’ is 40% more efficient than ‘A’, then ‘B’ 
will finish the work in how many days? 
a. 15 days   b. 25 days   c. 35 days 
d. 45 days   e. Answer not known 
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‘A’ vd;gtu; jdpNa xU Ntiyia 35 ehl;fspy; Kbg;ghh;. ‘B’ Mdtu;> ‘A’-I tpl 40% 
$Ljy; jpwd; tha;e;jth; vdpy;> ‘B’ Mdtu; me;j Ntiyia vj;jid ehl;fspy; 
Kbg;ghh;? 
a. 15 ehl;fs;   b. 25 ehl;fs;   c. 35 ehl;fs; 
d. 45 ehl;fs;   e. tpil njupatpy;iy 
 
   

25. If 20% of (P +Q) = 50% of (P – Q) then find P : Q. 
a. 2:5  b. 3:7  c. 7:3  d. 5:2  e. Answer not known 
(P +Q) tpd; 20% kw;Wk; (P – Q)  tpd; 50% rkk; vdpy; P : Q fhz;f 
a. 2:5  b. 3:7  c. 7:3  d. 5:2  e. tpil njupatpy;iy 
 

26. Which of the following is not a Cash Crop? 
a. Sugarcane   b. Coffee  c. Tobacco 
d. Cotton   e. Answer not known 
fPo;f;fz;ltw;Ws; vJ gzg;gapu; my;y? 
a. fUk;G   b. fhgp  c. Gifapiy 
d. gUj;jp   e. tpil njupatpy;iy 
 

27. Which is longest peninsular river? 
a. Mahanadi   b. Godavari   c. Krishna 
d. Narmada   e. Answer not known 
jPgfw;g ,e;jpahtpy; ghAk; kpf ePskhd MW vJ? 
a. kfhejp   b. Nfhjhtup   c. fpU~;zh 
d. eh;kjh   e. tpil njupatpy;iy 
 

28. The play ‘Manonmaniam’ was written by 
a. Meenakshi Sundaranar  b. P. Sundaranar  c. U.V. Swaminathar 
d. C.W. Damotharan  e. Answer not known 
‘kNdhd;kzpak;’ vd;Dk; ehlhf E}iy ,aw;wpatu; ___________ Mthu;. 
a. kPdhl;rp Re;judhh;   b. gp. Re;judhh;  c. c.Nt. rhkpehju; 
d. rp.it. jhNkhjudhh;  e. tpil njupatpy;iy   
 

29. Keezhadhi excavation suggests that _________ century onwards urbanization has been 
occurred in Tamil Nadu. 
a. 3rd Century BCE  b. 4th Century BCE  c. 5th Century BCE 
d. 6th Century BCE  e. Answer not known 
jkpo;ehl;by; efukakhjy; _____ E}w;whz;bypUe;J njhlq;FfpwJ vd;gij fPob mfoha;T 
$Wfpd;wJ.  
a. 3-k; E}w;whz;L ngh.M.K     b. 4-k; E}w;whz;L ngh.M.K 
c. 5-k; E}w;whz;L ngh.M.K     d. 6-k; E}w;whz;L ngh.M.K 
e. tpil njupatpy;iy 
 

30. The Karachi Session in 1931 of the Indian National Congress was presided over by 
a. Abul Kalam Azad b. Vallabai Patel  c. Jawaharlal Nehru 
d. Jawaharlal Nehru  e. Answer not known 
1931 Mk; Mz;L fuhr;rpapy; eilngw;w ,e;jpa Njrpa fhq;fpu]; khehl;by; jiyik 
tfpj;jth;. 
a. mGy; fyhk; Mrhj;  b. ty;ygha; gl;Nly;  c. [t`h;yhy; NeU 
d. rNuh[pdp    e. tpil njupatpy;iy 
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31. Kattabomman was hanged to death was executed by 

a. Col. Heron   b. Major Bannerman c. Edward Clive 
d. John Cradock  e. Answer not known 
fl;lnghk;kid J}f;fpypl;L nfhiy nra;tij epiwNtw;wpatu; 
a. fh;dy; `uhd;  b. Nk[u; ghdh;nkd;  c. vl;th;l; fpist; 
d. [hd; fpuhlhf;  e. tpil njupatpy;iy 
 

32. Which of this is the wrong answer? 
1 metric tonne is  
(1) 10 quintal 
(2) 1000 kg 
a. (1) only   b. (2) only   c. Both (1) and (2)  
d. Neither (1) nor (2)  e. Answer not known 
fl;lnghk;kid J}f;fpypl;L nfhiy nra;tij epiwNtw;wpatu; 
a. fh;dy; `uhd;  b. Nk[h; ghdh;nkd;  c. vl;th;l; fpist; 
d. [hd; fpuhlhf;  e. tpil njupatpy;iy 
 

33. If a man has a mass of 50 kg. on Earth, then what is his weight? 
a. 490 N   b. 490 kg   c. 50 kg 
d. 50N    e. Answer not known 
,tw;Ws; ve;j tpil jtwhdJ: 
1 nkl;upf;ld; vd;gJ ___________ 
(1) 10 Ftpd;lhy; 
(2) 1000 fpNyhfpuhk; 
a. (1) kl;Lk;   b. (2) kl;Lk;   c. (1) kw;Wk; (2) Mfpa ,uz;Lk; 
d. (1) kw;Wk; (2) Mfpatw;wpy; vJTkpy;iy  e. tpil njupatpy;iy 
 

34. Assertion (A): Indian Constitution Provides for an Independent Election  
   Commission 
Reason (R):  To ensure free and fair elections in the country. 
a. Both (A) and (R) are true and (R) explains (A) 
b. Both (A) and (R) are true and (R) does not explain (A) 
c. (A) is correct and (R) is false 
d. (A) is false and (R) is true 
e. Answer not known 
$w;W (A): ,e;jpa murpay; mikg;ghdJ Njh;jy; Mizak; Rje;jpukhfr; nray;gl 
  toptif nra;fpwJ 
fhuzk; (R): Rje;jpukhd kw;Wk; epahakhd Njh;jiy elj;j cWjp nra;fpwJ 
a. $w;W (A) kw;Wk; fhuzk; (R) rup> (A) $w;Wf;fhd fhuzk; (R) rup 
b. $w;W (A) kw;Wk; fhuzk; (R) rup> (A) $w;Wf;fhd fhuzk; (R) jtW 
c. $w;W (A) rup fhuzk; (R) jtW 
d. $w;W (A) jtW fhuzk; (R) rup 
e. tpil njupatpy;iy 
 

35. Find the compound interest for 
1

2
2

years on Rs. 4,000 at 10% p.a. if the interest is 

compounded yearly. 
a. Rs. 1,024   b. Rs. 1,032   c. Rs. 1,050  
d. Rs. 1,082   e. Answer not known 
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&. 4>000 f;F 10% Mz;L tl;bapy;> Mz;Lf;F xUKiw tl;b fzf;fplg;gLk; Kiwapy; 
1

2
2
 Mz;LfSf;F fpilf;Fk; $l;Ltl;biaf; fhz;f. 

a. &. 1,024   b. &. 1,032   c. &. 1,050  
d. &. 1,082   e. tpil njupatpy;iy 
 

36. Find the Simple Interest on Rs. 35,000 at 9% per annum for 2 years. 
a. Rs. 6,300  b. Rs. 6,000   c. Rs. 7,400 
d. Rs. 6,800  e. Answer not known 
&. 35>000-f;F tl;b tPjk; 9% vdpy;> ,uz;L Mz;LfSf;fhd jdp tl;biaf; fhz;f. 
a. &. 6,300  b. &. 6,000   c. &. 7,400 
d. &. 6,800  e. tpil njupatpy;iy   

 
37. The mention of the word ‘Meluhha’ in the ________ script is considered to refer to the 

Indus region 
a. Pictogreaphic  b. Cuneiform   c. Brahmi 
d. Hieroglyphic  e. Answer not known 
_________ vOj;Jf;fspy; fhzg;gLk; ‘nkY`h’ vd;w Fwpg;G rpe;J gFjpiaf; 
Fwpg;gjhFk;. 
a. rpj;jpu vOj;J  b. fpA+dpghh;k;   c. gpuhkp 
d. i`Nuhfpspgpf;  e. tpil njupatpy;iy   
 

38. Which one of the following comes under Political Equality? 
a. Right to petition the government and criticize public policy. 
b. Removal of inequality based on race, colour, sex and caste. 
c. All are equal before the law. 
d. Prevention of concentration of wealth in the hands of law 
e. Answer not known 
fPo;f;fz;ltw;wpy; vJ murpay; rkj;Jtk; MFk; 
a. murhq;fj;jpw;F kDnra;tJ kw;Wk; nghJf; nfhs;iffis tpku;rpg;gJ 
b. ,dk;> epwk;> ghypdk; kw;Wk; rhjp mbg;gilapy; rkj;Jtkpd;ik mfw;wg;gLjy; 
c. rl;lj;jpd; Kd; midtUk; rkk; 
d. rl;lk; iffspy; nry;tk; nrwpT jLg;G 
e. tpil njupatpy;iy   

 
39. Makkalai thedi Maruthuvam (Health care services at people’s doorsteps) was first 

launched in which district of Tamil Nadu? 
a. Dharmapuri  b. Madurai   c. Krishnagiri 

d. Theni   e. Answer not known 
kf;fisj; Njb kUj;Jtk; Kjypy; jkpo;ehl;by; ve;j khtl;lj;jpy; Vw;gLj;jg;gl;lJ? 
a. jh;kGup   b. kJiu   c. fpU~;zfpup 
d. Njdp   e. tpil njupatpy;iy   

   
40. Tamil Nadu is placed ________ in health index as per the NITI AAYOG report (2018) 

a. 1st   b. 8th   c. 5th   d. 3rd   e. Answer not known 
epjp MNahf; (2018) mwpf;ifapd; gb Rfhjhuf; FwpaPl;bf; jkpo;ehL ___________ 
,lj;ij tfpf;fpwJ. 
a. Kjy;   b. vl;lhk;   c. Ie;jhk; 
d. %d;whk;   e. tpil njupatpy;iy   
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41. “Azhukkaarutaiyaan kan Aakkampondru illan”. What is the meaning of 

“Azhukkaaru”? 
a. Wrath  b. Absence of anger   c. Envious 
d. Evil   e. Answer not known 
‘mOf;fhWilahd; fz; Mf;fk;Nghd; wpy;iy’- ,jpy; mOf;fhW vd;gjd; nghUs; ahJ? 
a. rpdk;  b. ntFshik   c. nghwhik 
d. jPik  e. tpil njupatpy;iy   

 
42. To what does Valluvar denote the timely benefit rendered in the Kural “Kaalaththi 

Naarseydha Nandri”? 
a. Bigger than Knowledge    b. Greater than the Ocean 
c. Greater than the World    d. Higher than the Sky 
e. Answer not known 
fhyj;jpdhy; nra;j ed;wpia tsStu; vt;thW Rl;Lfpwhh;? 
a. mwpittplg; nghpaJ    b. fliytplg; ngupaJ  
c. cyfj;ijtplg; ngupaJ    d. thidtplg; ngupaJ 
e. tpil njupatpy;iy 
 

43. _______ is the percapita availability of milk per day in India for the year 2020 – 21. 
a. 319 grams/day  b. 406 grams/day  c. 427 grams/day 

d. 467 grams/day  e. Answer not known 
2020-21 Mz;bw;hd ,e;jpahtpd; ehs; xd;Wf;fhd jdp kdpj ghy; ,Ug;G ________ MFk;. 
a. 319 fpuhk;/ehs;  b. 406 fpuhk;/ehs;  c. 427 fpuhk;/ehs; 
d. 467 fpuhk;/ehs;  e. tpil njupatpy;iy   

 
44. Maha Vir Chakra award on 26th January 2021 won by 

a. Naik Digendra Kumar  b. Major Vivek Gupta c. Brigadier Sant Singh 
d. Colonel B. Santosh Babu e. Answer not known 
26 [dtup 2021-y; kfhtPu; rf;uh tpUJ ____________ mth;fSf;F toq;fg;gl;lJ 
a. ehaf; jpNfe;jpu Fkhu;  b. Nk[h; tpNtf; Fg;jh c. gpNufpbau; rhz;l; rpq; 
d. fh;dy; B. re;Njh~; ghF  e. tpil njupatpy;iy   

 
45. Tax levied on personal income is  

a. Indirect tax  b. Wealth tax   c. Direct tax 

d. Regressive tax  e. Answer not known 
jdp egu; tUkhdj;jpd; kPJ tpjpf;g;gLk; thp 
a. kiwKf thp  b. nrhj;J thp  c. Neu;Kf tup 
d. Nja;TtPj tup  e. tpil njupatpy;iy 
 

46. Which of the following statements are true about Central Bank or RBI? 
(i) The issuer of Currency 
(ii) The issuer of Industrial license 
(iii) Banker to the Government 
a. (i) only   b. (i) and (ii) only   c. (i) and (iii) only 

d. (ii) and (iii) only  e. Answer not known 
ika tq;fp my;yJ upru;t; Ngq;f; Mg; ,e;jpah gw;wpa gd;tUk; thf;fpaq;fspy; vit 
rupahdit? 
(i) fhfpjg; gzj;ij ntspapLjy; 
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(ii) njhopw;rhiy cupkk; toq;Fjy; 
(iii) muRf;F tq;fpahfr; nray;gLjy; 
a. (i) kl;Lk;    b. (i) kw;Wk; (ii) kl;Lk; c. (i) kw;Wk; (iii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njupatpy;iy 
 

47. The mirror image of the word “STILL” 

a.    b.    c.   

d.    e. Answer not known 
“STILL” vd;w thh;j;ijapd; fz;zhb gpk;gk;  

a.    b.    c.   

d.    e. tpil njupatpy;iy 
 

48. If BAY = 28 then WON =? 
a. 46  b. 52  c. 67  d. 89  e. Answer not known 
BAY = 28 vdpy; WON =? 
a. 46  b. 52  c. 67  d. 89  e. tpil njupatpy;iy 

 
49. If the H.C.F of 450 and 216 is expressible of the form 23x – 51 then find the value of x. 

a. 2  b. 3  c. 4  d. 5  e. Answer not known 
450 kw;Wk; 216 Mfpatw;spd; kPg;ngU nghJ tFj;jpia 23x – 51> vd;w tbtpy; 
vOjpdhy; x-d; kjpg;G ahJ? 
a. 2  b. 3  c. 4  d. 5  e. tpil njupatpy;iy 
 

50. There are four mobile phones in a house. At 5 am all the four mobile phones will ring 
together. Thereafter, the first one rings every 15 minutes, the second on rings every 20 
minute, the third one rings every 25 minutes and the fourth on rings every 30 minutes. 
At what time, will the four mobile phones ring together again? 
a. 7 O’ Clock   b. 1 O’ Clock   c. 8 O’ clock 
d. 10 O’ Clock  e. Answer not known 
xU tPl;by; ehd;F miyNgrpfs; cs;sd. fhiy 5 kzpf;F vy;yh miyNgrpfSk; 
xd;whf xypf;Fk;. mjd; gpd; Kjy; miyNgrpahdJ xt;nthU 15 epkplq;fspYk; 
,uz;lhtJ miyNgrpahdJ xt;nthU 20 epkplq;fspYk; %d;whtJ miyNgrpahJ 
xt;nthU 25 epkplq;fspYk; kw;Wk; ehd;fhtJ miyNgrpahdJ xt;nthU 30 
epkplq;fspYk; xypf;fpd;wd vdpy; mit kPz;Lk; vg;NghJ xd;whf xypf;Fk;? 
a. 7 kzp   b. 1 kzp    c. 8 kzp 
d. 10 kzp   e. tpil njupatpy;iy 
 

51. Pick the odd one out: 
a. Horse and iron were unknown to the Indus people 
b. Indus people used the red quartz stone to design jewellery 
c. Silk dresses were in common use in Indus Culture. 
d. Ornaments were popular among men and women of Indus Culture 
e. Answer not known 

 nghUe;jhjij Njh;e;njLf;fTk;: 
a. rpe;J rkntsp kf;fs; ,Uk;G kw;Wk; Fjpiuia mwpe;jpUf;ftpy;iy 
b. rpe;J rkntsp kf;fs; Mguzk; nra;a rptg;G epw kzpf;fwpfisg; gad;gLj;jpdh; 
c. nghJthfg; gl;L MilfNs rpe;J rkntsp fyhr;rhuj;jpy; gad;ghl;by; ,Ue;jd 
d. rpe;J rkntsp Mz;> ngz; ,UghyUk; Mguzq;fis tpUk;gp mzpe;jpUe;jdh;  
e. tpil njhpatpy;iy 
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52. ‘Drop, cover, hold’ is a mock drill a vowal for 
a. Fire    b. Tsunami   c. Earthquake 

d. Riot    e. Answer not known 
“tpO!> %bf;nfhs; ! gpbj;Jf;nfhs; “ vd;gJ vjw;fhd xj;jpif? 
a. jP    b. Rdhkp   c. epyeLf;fk; 
d. fytuk;   e. tpil njhpatpy;iy 
 

53. ___________ hoisted the National Flag atop of Fort St. George on 26th January, 1932. 
a. Tiruppur Kumaran  b. Arya ( Bhashyam) c. T. Prakasam 
d. K. Nageswara Rao  e. Answer not known 
1932 – Mk; Mz;L [dthp 26 -Mk; ehspy; Gdpj [hh;[; Nfhl;ilapd; cr;rpapy; Njrpaf; 
nfhbia Vw;wpath; __________ Mthh;. 

a. jpUg;G+h; Fkud;   b. Mhpah (gh~;ak;)  c. T. gpufhrk; 
d. K. ehNf];tu uht;  e. tpil njhpatpy;iy 
 

54. _________ spread Theosophical ideas through her newspapers called “New India” and 
“Common Weal”. 
a. Annie Besant   b. Savitri Bai   c. Ayyan Kali 
d. Sir Sayyid Ahmed Khan  e. Answer not known 
__________ gpuk;k Qhdf; fUj;Jf;fisj; jd;Dila “epA+ ,e;jpah” kw;Wk; “fhkd;tPy;” 
nra;jpj;jhs;fspd; %yk; gug;gpdhh;. 
a. md;dpngrd;l;   b. rhtpj;jphpgha;  c. ma;ad;fhsp 
d. rh; iraJ mfkj; fhd;  e. tpil njhpatpy;iy 
 

55. Match the following: 
A. Champaran Satyagraha   1. 1922 
B. Communal Award   2. 1932 
C. Ahmedeabad Mill strike   3. 1918 
D. Bardoli Resolution   4. 1917 
 
 A B C D 
a. 4 2 3 1 
b. 2 3 4 1 
c. 1 2 3 4 
d.  4 3 2 1 
e.  Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf: 
A. rk;guhd; rj;jpahfpufk;   1. 1922 
B. tFg;Gthj tpUJ    2. 1932 
C. mfkjhghj; Miyj; njhopyhsh;fs;  
   Ntiy epWj;jk;    3. 1918 
D. gh;Njhyp jPh;khdk;   4. 1917 

A B C D 
a. 4 2 3 1 
b. 2 3 4 1 
c. 1 2 3 4 
d.  4 3 2 1 
e.  tpil njhpatpy;iy 
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56. __________ is a tough and thick white sheath that protects the inner parts of the eye. 
a. Sclera    b. Conjunctiva  c. Cornea 
d. Iris     e. Answer not known 
_________ vd;gJ cWjpahd> jbj;j ntz;zpw ciwahf mike;J fz;zpd; 
cs;ghfq;fisg; ghJfhf;fpd;wJ. 
a. ];f;nyuh     b. fz;[q;bth  c. fhh;dpah   
d. Ihp];    e. tpil njhpatpy;iy 
 

57. The adulterant added to coffee powder is  
a. Chalk powder   b. Sand grit   c. Tamarind powder 
d. Metanil yellow   e. Answer not known 

 fhg;gpj;J}spy; Nrh;f;fg;gLk; fyg;glg; nghUs; __________ MFk;. 
 a. rhf;gP]; nghb   b. kzy;Jfs;fs;  c. Gsp nghb 
 d. nkl;ldpy; kQ;rs ;  e. tpil njhpatpy;iy 
 
58. Which year the right to property was removed from the list of Fundamental Rights? 

a. 1976    b. 1972   c. 1978 

d. 1975    e. Answer not known 
ve;j Mz;L mbg;gil chpikfs; gl;baypypUe;J nrhj;Jhpik ePf;fg;gl;lJ? 
a. 1976    b. 1972   c. 1978 
d. 1975    e. tpil njhpatpy;iy 
 

59. Which of the following Constitution is written and Lengthiest in the World? 
a. USA    b. India   c. England 
d. Irish    e. Answer not known 
cyfpNyNa vOjg;gl;l kw;Wk; kpfTk; ePskhd murpayikg;G vJ? 
a. mnkhpf;fh    b. ,e;jpah   c. ,q;fpyhe;J 
d. Ihp~;    e. tpil njhpatpy;iy   

60. Akash can complete a work in 3 days, whereas Radha can complete it is only 6 days.  If 
they work together, in how many days, can the work been completed? 
a. 1   b. 2  c. 3  d. 4  e. Answer not known 
xU Ntiyia Mfh~; 3 ehl;fspy; Kbg;ghh;. mNj Ntiyia uhjh Kbf;f 6 ehl;fs; 
MFk;. ,UtUk; Nrh;e;J nra;jhy;> mt;Ntiyia vj;jid ehl;fspy; Kbg;gh;? 
a. 1   b. 2  c. 3  d. 4  e. tpil njhpatpy;iy 
 

61. The Dimensions of a brick are 24 cm x 12cm x8 cm.  How many such bricks will be 
required to build a wall of 20 m length, 48 cm breadth and 6 m height? 
a. 25,000  b. 20,000 c. 30,000 d. 22,500 e. Answer not known 
xU Ntiyia Mfh~; 3 ehl;fspy; Kbg;ghh;. mNj Ntiyia uhjh Kbf;f 6 ehl;fs; 
MFk;. ,UtUk; Nrh;e;J nra;jhy;> mt;Ntiyia vj;jid ehl;fspy; Kbg;gh;? 
a. 25,000  b. 20,000 c. 30,000 d. 22,500 e. tpil njhpatpy;iy 
 

62. The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables 
together is Rs.4,000. Find the total price of 12 chairs and 3 tables. 
a. Rs. 3,500    b. Rs.3,750   c. Rs. 3,840 
d. Rs. 3,900    e. Answer not known 
10 ehw;fhypfspd; tpiy 4 Nkirfspd; tpiyf;Fr; rkk;. 15 ehw;fhypfs; kw;Wk; 2 
Nkirfs; Nrh;j;J tpiy &. 4>000. 12 ehw;fhypfs; kw;Wk; 3 Nkirfspd; nkhj;j tpiy 
vd;d? 
a. &.3>500    b. &.3>750   c. &.3>840  
d. &.3>900    e. tpil njhpatpy;iy 
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63. Which is the India’s oldest fold mountain rage? 

a. Zeskar range   b. Karakoram range  c. Aravalli range 
d. Ladakh range   e. Answer not known 
,e;jpahtpd; kpfg; goikahd kbg;G kiyj;njhlh; vJ? 
a. rh];fh; kiyj;njhlh; b. fhuNfhuk; kiyj;njhlh;  c. Muty;yp kiyj;njhlh; 
d. ylhf; kiyj;njhlh; e. tpil njhpatpy;iy 
 

64. Which nuclear power plant is located in Tamil Nadu? 
a. Naron     b. Kudankulam  c. Tarapur 
d.  Narora    e. Answer not known 
jkpo;ehl;by; fPo;f;fhZk; ve;j ,lj;jpy; mZkpd; cw;gj;jp epiyak; mike;Js;sJ? 
a. eNuhd;    b. $lq;Fsk;   c. jhuhG+h;  
d. eNuhuh    e. tpil njhpatpy;iy 
 

65. Whose enmity should be avoided? 
a. Hatred of Warriors  b. Hatred of Word Ploughers (Writers) 

c. Hatred of loved ones  d. Hatred of righteous men 
e. Answer not known 
ahUila gifiaj; jtph;f;f Ntz;Lk;? 
a. tpy;Nyhh; coth; gif  b. nrhy;Nyhh; coth; gif 
c. md;Ngh; coth; gif  d. gz;Ngh; coth; gif 
e. tpil njhpatpy;iy 
 

66. According to Valluvar under which King will the citizens prosper happily? 
a. The one who sustain good words  b. The one who bears bitter criticism 
c. The one who cannot sustain harsh words d. The one who triumphs vengeance 
e. Answer not known 
vg;gbg;gl;l murdpd; fPo; kf;fs; jq;fp tho;thh;fs; vd;W ts;Sth; Fwpg;gpLfpd;whh;? 
a. nkd;nrhy; tpUk;Gth;  b. fLQ;nrhy; nghWg;gth; 
d. fLQ;nrhy; nghWf;fhjth; d. gifikia nty;gth; 
e. tpil njhpatpy;iy 
 

67. which one of the following is the second largest port in India? 
a. Mumbai    b. Mangalore   c. Chennai 

d. Cochin    e. Answer not known 
 gpd;tUtdtw;Ws; ,e;jpahtpd; ,uz;lhtJ nghpa JiwKfk; vJ? 
 a. Kk;ig    b. kq;f@h;   c. nrd;id   

d. nfhr;rp    e. tpilnjhpatpy;iy 
 

68. The Padma Vibushan in the field of Arts for the year 2021 was awarded to 
____________ in Tamil Nadu. 
a. Narayan Devnath   b. K.S.Chitra   c. Bombay Jeyasree 
d. S.P. Balasubrahmanyam  e. Answer not known 
fiyj;Jiwapy; rhjidfs; nra;jikf;fhf> 2021 Mk; Mz;bw;fhd> jkpo;ehl;by; gj;k 
tpG+~d; tpUJ ngw;wth; ahh;? 
a. ehuhaz; Njt;ehj;   b. Nf.v];.rpj;uh  c. ghk;Ng n[a= 
d. v];.gp.ghyRg;gpukzpak;  e. tpilnjhpatpy;iy 
 

69. Natural Satellite of Earth is 
a. Andromeda   b. Moon   c. Sputnitk 
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d. Milkway    e. Answer not known 
Gtpapd; ,aw;ifahd Jizf;Nfhs; 
a. mz;bNuhkPlh   b. epyT   c. ];Gl;dpf; 
d. ghy;ntsp tPjp   e. tpilnjhpatpy;iy 
 

70. Who was the first Governor of Reserve Bank of India? 
a. Osborne Smith   b. N.K.Singh   c. A.K.Chanda 
d. C.Rangarajan   e. Answer not known 
ghuj hprh;t; tq;fpapd; Kjy; MSeh; ahh;? 
a. X];Nghh;d; ];kpj;   b. N.K.rpq;   c. A.K.re;jh 
d. C.uq;fuh[d;   e. tpil njhpatpy;iy 
 

71. The Chief Justice and other Judges of the Supreme Court are appointed by 
a. The president of India  b. The Attorney General c. The Governor 
d. The Prime Minister of India e. Answer not known 
cr;rePjpkd;w jiyik ePjpgjp kw;Wk; mjd; gpw ePjpgjpfis epakdk; nra;fpd;wth;  
a. ,e;jpaf; FbauR jiyth; b. ,e;jpa murpd; jiyik tof;fwpQh; 
c. MSeh;    d. ,e;jpag; gpujkh; 
e. tpil njhpatpy;iy 
 

72. The Next term in the sequences 
2,5,9,19,37,………. 
a. 74  b. 75  c. 76  d. 82  e. Answer not known 
njhlh; thpirapd; mLj;j cWg;G  
2>5>9>19>37>…….. 
a. 74  b. 75  c. 76  d. 82  e. tpil njhpatpy;iy 
 
  

73. In Simple Interest, if a sum of money doubles in n years then in which year it will 
become m times? 
a. m  b.mn  c. (m-1) x n  d. mn-1 e. Answer not known 
jdp tl;bapy; mryhdJ n Mz;Lfspy; ,ul;bg;ghFk; vdpy;> mJ vj;jid Mz;Lfspy; 
m klq;F MFk;.? 
a. m  b.mn  c. (m-1) x n  d. mn-1 e. tpil njhpatpy;iy 
 

74. If 15 chart papers together weigh 50 grams then the number of same type of chart in a 
pack of 2 ½ Kilogram is  
a. 750  b. 700  c. 680   d. 720  e. Answer not known  
15 ml;ilfspd; nkhj;j vil 50 fpuhk; vdpy;> mNj msTila 2 ½ fp.fp. vilapy; 
cs;s ml;ilfspd; vz;zpf;if 
a. 750  b. 700  c. 680   d. 720  e. tpil njhpatpy;iy 
 

75. __________ is called as the “Museum of Human race”. 
a. England    b. India   c. America   
d. China    e. Answer not known 
__________  ‘kdpj ,dq;fspd; mUq;fhl;rpafk;’ vd miof;fg;gLfpwJ. 
a. ,q;fpyhe;J  b. ,e;jpah   c. mnkhpf;fh 
d. rPdh   e. tpil njhpatpy;iy 
 

76. Pick the odd one out: 
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a. Chalukyas – Badami  b. Chalukyas – Vengi c. Chalukyas-Nandhi 
d. Chalukyas – Kalyani  e. Answer not known 
nghUe;jhjij Njh;e;njLf;fTk;: 
a. ghjhkp rhSf;fpah;fs;  b. ntq;fpr; rhSf;fpah;fs;   c. ee;jpr; rhSf;fpah;fs; 
d. fy;ahzp rhSf;fpah;fs;  e. tpil njhpatpy;iy 
 

77. The concept of social justice arose in the  
a. 16th Century   b. 18th Century  c. 19th Century 

d. 21st Century   e. Answer not known 
r%fePjp vDk; fUj;JUthdJ ___________ y; cUthdJ 
a. 16 – k; E}w;whz;L  b. 18-k; E}w;whz;L  c.19-k; E}w;whz;L 
d. 21-tJ E}w;whz;L   e. tpil njhpatpy;iy 
 

78. Who has termed justice as fairness? 
a. Samuel Freeman   b. Thomas Mertens  c. Robert K. Merton 
d. John Rawls   e. Answer not known 
ePjpia epahak; vd;W $wpath; ahh;? 
a. rhKNty; g;hpNkd;  b. jhk]; nkh;l;ld;  c. uhgh;l; Nf.nkh;l;lhd; 
d. [hd; uhty;];  e. tpil njhpatpy;iy 
 

79. “The fire outside can envelop one to eternal sleep;….. 
but …. when cannot one sleep? 
a. One cannot sleep in the crisis of poverty 
b. One cannot sleep with the hoard of riches 
c. One cannot sleep afflicted in illness 
d. One cannot sleep in continuous misery 
e. Answer not known 
neUg;gpd; eLtpy; $lg; gLj;Jj; J}q;fyhk; 
Mdhy;> vg;NghJ J}q;f KbahJ? 
a. tWikapypUf;Fk; NghJ J}q;fKbahJ 

b. nry;tk; epiwe;jpUf;Fk;NghJ J}q;fKbahJ 
c. Nehapd; fLik kpFe;jpUe;jhy; J}q;f KbahJ 
d. Jd;gk; njhlh;e;J te;J nfhz;bUe;jhy; J}q;f KbahJ 
e. tpil njhpatpy;iy 
 

80. Who according to Valluvar becomes happy to be together but despairs separation? 
a. Profession of Poets  b. Agricultural Industry c. Medical Field 
d. Trade and Commerce  e. Answer not known 
NrUk; NghJ kfpo;tJk; gphpAk; NghJ kdk; fyq;FtJk; ahUila njhopyhf ts;Sth; 
Fwpg;gpLfpd;whh;? 
a. Gyth; njhopy;   b. coth; njhopy;  c. kUj;Jth; njhopy; 
d. tzpfh; njhopy;   e. tpil njhpatpy;iy 
 

81. According to which Article, the elections to the Lok Sabha and the Assemblies of every 
State shall be conducted on the basis of Adult Suffrage? 
a. Article – 234   b. Article – 263  c. Article – 326 

d. Article – 363   e. Answer not known 
kf;fsit kw;Wk; xt;nthU khepy rl;lkd;wq;fspYk; taJ te;Njhh; thf;Fhpikapd; 
mbg;gilapy; Njh;jy; elj;jg;gl Ntz;Lk; vdf; $Wk; ,e;jpa murpayikg;gpd; 
rl;lg;gphpT ahJ? 
a. rl;lg;gphpT – 234   b. rl;lg;gphpT – 263  c. rl;lg;gphpT – 326 
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d. rl;lg;gphpT – 363   e. tpil njhpatpy;iy   
 
82. Yaas cyclone was formed in  

a. Arabian Sea   b. Bay of Bengal  c. Red Sea 
d. Dead Sea    e. Answer not known 
ah]; #whtsp vq;F cUthdJ? 
a. mugpf;fly;    b. tq;fhs tphpFlh  c. nrq;fly; 
d. rhf;fly;    e. tpil njhpatpy;iy 
 

83. According to the Growth rate the successful five year plans are 
i. First five year plan ii. Third five year plan   
iii. Fifth five year plan iv. Seventh five year plan 
a. i, ii and iii    b. ii, iii, and iv  c. i, iii and iv 

d. i, ii and iv    e. Answer not known 
tsh;r;rp tpfpjj;jpd; mbg;gilapy; ntw;wpaile;j Ie;jhz;Lj; jpl;lq;fs; 
i. Kjyhk; Ie;jhz;Lj; jpl;lk;  ii. %d;whk; Ie;jhz;Lj; jpl;lk; 
iii. Ie;jhk; Ie;jhz;Lj; jpl;lk;  iv. VohtJ Ie;jhz;Lj; jpl;lk; 
a. i, ii kw;Wk;  iii  b. ii, iii, kw;Wk;   iv  c. i, iii kw;Wk;  iv 
d. i, ii kw;Wk;   iv  e. tpil njhpatpy;iy 
 

84. India is the home to _________ percent of the World’s poor. 
a. 12  b. 18  c. 22  d. 20  e. Answer not known 
cyfj;jpy; cs;s nkhj;j Vio kf;fspy; __________ rjtpfpjk; ,e;jpahtpy; cs;sdh;. 
a. 12  b. 18  c. 22  d. 20  e. tpil njhpatpy;iy 
 

85. If ’Clock’ is related to ‘Time’, What word is related to Thermometer? 
a. Heat    b. Radiation   c. Energy 
d. Temperature   e. Answer not known 
‘fbfhuj;jpw;F’ njhlh;Gila thh;j;ij “kzp” vdpy; ntg;gkhdpf;F njhlh;Gila 
thh;j;ij vd;d? 
a. ntg;gk;    b. fjph;tPr;R   c. Mw;wy;   
d. ntg;gepiy   e. tpil njhpatpy;iy 
 

86. What is the probability that a leap year selected at random will contain 53 Saturdays? 
a. 1/7  b. 2/7   c. 3/7  d. 4/7  e. Answer not known 
xU nel;lhz;by; 53 rdpf;fpoikfs; fpilg;gjw;fhd epfo;jfT fhz;f?  
a. 1/7  b. 2/7   c. 3/7  d. 4/7  e. tpil njhpatpy;iy 
 

87. Pari needs 4 hours to complete a work.  His friend Yuvan needs 6 hours to complete the 
same work. How long will it take to complete if they work together? 
a. 2 hours 20 minutes  b. 2 hours 40 minutes c. 2 hours 24 minutes 

d. 2 hours 44 minutes  e. Answer not known 
xU Ntiyia 4 kzp Neuj;jpy; ghhp nra;fpwhh;. Atd; mNj Ntiyia 6 kzp 
Neuj;jpy; nra;fpwhh; vdpy; ,UtUk; Nrh;e;J me;j Ntiyiar; nra;J Kbf;f vj;jid 
kzp NeukhFk;? 
a. 2 kzpfs; 20 epkplq;fs;  b. 2 kzpfs; 40 epkplq;fs; 
c. 2 kzpfs; 24 epkplq;fs;  d. 2 kzpfs; 44 epkplq;fs; 
e. tpil njhpatpy;iy 
 

88. In Tamil Nadu the lowest sex ratio has recorded in the district of  
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a. Vellore    b. Cuddalore   c, Nilgiri 
d. Dharmapuri   e. Answer not known 
jkpo;ehl;by; ve;j khtl;lk; Fiwthd ghypd tpfpjk; nfhz;Ls;sJ? 
a. NtY}h;    b. flY}h;   c. ePyfphp 
d. jh;kGhp    e. tpil njhpatpy;iy 
 

89. Where did the first sub- urban railway started in India? 
a. Kolkatta    b. Chennai   c. Delhi   
d. Mumbai    e. Answer not known 
,e;jpahtpd; Kjy; Gwefh; ,uapy; Nghf;Ftuj;J vq;Fj; njhlq;fg;gl;lJ? 
a. nfhy;fj;jh   b. nrd;id   c. nly;yp 
d. Kk;ig    e. tpil njhpatpy;iy 
 

90. The Fort that was not controlled by Pulithevar is 
a. Nerkattumseval   b. Vasudevanallur  c. Panayur 
d. Sivagiri    e. Answer not known 
G+ypj;Njthpd; fl;Lg;ghl;bw;Fs; ,y;yhj Nfhl;il ___________ MFk;. 
a. new;fl;Lk;nrty;  b. thRNjtey;Y}h;  c. gidA+h; 
d. rptfphp   e. tpil njhpatpy;iy 
 

91. Who among the following poet had relations with Odhisa country? 
a. Kamban    b. Sekkilar   c. Ottakuthar 

d. Jayamkondan   e. Answer not known 
xhprh ehl;NlhL njhlh;Gila Gyth; ahh;? 
a. fk;gh;    b. Nrf;fpohh;   c. xl;lf;$j;jh; 
d. nraq;nfhz;lhh;   e. tpil njhpatpy;iy 
 

92. ‘Periyar’ the title was conferred on him by Tamil Nadu Women conference held in 
Madras on 
a. 1936 b. 1937  c. 1938  d. 1939 e. Answer not known 
<.nt.uhtpw;F ___________ Mk; Mz;L nrd;idapy; eilngw;w kfsph; khehl;by; 
‘nghpahh;’ vd;w gl;lk; toq;fg;gl;lJ. 
a. 1936 b. 1937  c. 1938  d. 1939 e. tpil njhpatpy;iy 
 

93. Naujawan Bharat Sabha was founded by 
a. Bhagat Singh   b. Subhash Chandra Bose  c. Veer Savarkar 
d. Chandrashekhar Azad  e. Answer not known 
‘et[thd; ghuj; rgh’ vd;w mikg;ig epWtpah; _______ Mthh;. 
a. gfj;rpq;    b. Rgh~; re;jpu Ngh];  c. tPh; rhth;f;fh; 
d. re;jpu Nrfu Mrhj;   e. tpil njhpatpy;iy 
 

94. Due to its great commercial importance, it is called ‘Black gold”. 
a. Petroleum    b. Coke   c. Coar tar 
d. Ammonia    e. Answer not known 
tzpf hPjpahf Kf;fpaj;Jtk; tha;e;jjhy; ,jidf; ‘fUg;G jq;fk;’ vd miof;fpd;wdh;. 
a. ngl;Nuhypak;   b. fy;fhp   c. fhpj;jhh; 
d. mk;Nkhdpah   e. tpil njhpatpy;iy  
 

95. The element that combines with other elements to make medicine for treating diarrhea. 
a. Bismuth    b. Zinc   c. Calcium 
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d. Gold    e. Answer not known 
ve;j jdpkj;ij kw;w jdpkq;fSld; Nrh;j;J tapw;Wg;Nghf;F rpfpr;irf;F kUe;jhfg; 
gad;gLj;Jfpd;wdh;? 
a. gp];kj;    b. Jj;jehfk;   c. fhy;rpak; 
d. jq;fk;    e. tpil njhpatpy;iy 
 

96. Which day is celebrated as Human Right day universally? 
a. 9th December   b. 10th December  c. 11th December 
d. 12th December   e. Answer not known 
cyf kdpj chpikfs; jpdkhf nfhz;lhlg;gLk; ehs; vJ? 
a. brk;gh; 9  b. brk;gh; 10  c. brk;gh; 11 
d. brk;gh; 12  e. tpil njhpatpy;iy 
 

97. Which year the Tamil Nadu Legislative Council was abolished? 
a. 1985  b. 1986 c. 1987  d. 1988 e. Answer not known 
ve;j Mz;L jkpo;ehL rl;l Nkyit ePf;fg;gl;lJ? 
a. 1985  b. 1986 c. 1987  d. 1988 e. tpil njhpatpy;iy 
 

98. The traffic lights at three different road crossings change after every 48 seconds, 72 
seconds and 108 seconds respectively.  If they change simultaneously at 7 a.m., at what 
time will they change simultaneously again? 
a. 07:12    b. 12:07   c. 07:12:07 
d. 07:07:12    e. Answer not known 
48 tpdhbfs;> 72 tpdhbfs; kw;Wk; 108 tpdhbfSf;Fg; gpwF %d;W ntt;NtW rhiy 
FWf;F ntl;Lfspy; Nghf;Ftuj;J tpsf;Ffs; khWfpd;wd. fhiy 7 kzpf;F mit xNu 
Neuj;jpy; khwpdhy;> ve;j Neuj;jpy; mit kPz;Lk; xNu Neuj;jpy; khWk;.  
a. 07:12    b. 12:07   c. 07:12:07 
d. 07:07:12    e. tpil njhpatpy;iy 
 

99. A river 2 metres deep and 45 metres wide is flowing at the rate of 3 km/hr, then the 
amount of water that runs into the sea per minute is 
a. 3000 m3    b. 3500 m3   c. 4500 m3 

d. 27000 m3    e. Answer not known 
2 kP Mok; kw;Wk; 45 kP mfyKs;s xU Mw;wpypUe;J ePuhdJ 3 km/hr Ntfj;jpy; 
flypy; fyf;fpwJ vdpy; xU epkplj;jpy; flypy; fyf;Fk; ePhpd; msT 
a. 3000 m3    b. 3500 m3   c. 4500 m3 
d. 27000 m3    e. tpil njhpatpy;iy 
 

100. Find the sum in which amounts to Rs.2,662 at 10 % p.a. in 3 years, compounded yearly. 
a. Rs.1,500    b. Rs. 1,800   c. Rs. 2,000 

d. Rs. 2,500    e. Answer not known 
10 % Mz;L tl;bapy;> Mz;Lf;F xU Kiw tl;b fzf;fplg;gl;lhy;> 3 Mz;Lfspy; 
ve;j mryhdJ &.2>662 njhifahFk;. 
a. Rs.1,500    b. Rs. 1,800   c. Rs. 2,000 
d. Rs. 2,500    e. tpil njhpatpy;iy 


